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1. RBIEE
HEHES 9,097,032 8,344,728 752,304
LEES 9,097,032 8,344,728 752,304
(REtEEE) 9,097,032 8,344,728 752,304
2. BIEEE
(1) EARBIE 10,546,000 10,546,000 0
EHTES 10,546,000 10,546,000 0
EHFEE-EE 10,546,000 10,546,000 0
(EARBIESET) 10,546,000 10,546,000 0
(2) BEEE 600,000 0 600,000
LIEEERES 600,000 0 600,000
(BFEEESET] 600,000 0 600,000
(3) TDHDEEE = 2 2 0
25 0& 2 2 0
[ZDtDEEEEEET] 2 2 0
(B &EESE] 11,146,002 10,546,002 600,000
(BEAG] 20,243,034 18,890,730 1,352,304
I BEDE
1. REIAE
KiLe 234,597 257,886 A 23,289
HEYE 383,044 345,042 38,002
BE55 4% 834,148 836,865 A 2717
REBEEE] 1,451,789 1,439,793 11,996
(BEE&ET] 1,451,789 1,439,793 11,996
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1. ¥§EIERREAE
Hite 10,546,000 10,546,000 0
(B EEREAE S ET] 10,546,000 10,546,000 0
OLEXRBME~DF T L%8) (10,546,000)|  (10,546,000) 0)
2. —fRIELRELE 8,245,245 6,904,937 1,340,308
OLEFEEE~DT H%0) (600,000) 0) (600,000)
[iEBKBAE&ET) 18,791,245 17,450,937 1,340,308
[BERUVIEKRBESET] 20,243,034 18,890,730 1,352,304




